
Montage- & Bedienungsanleitung
Mounting & operating instructions
Instructions de montage & mode d’emploi

Schutzgitter
Protective grilles
Grilles de protection

Montage- & Bedienungsanleitung
Mounting & operating instructions
Instructions de montage & mode d’emploi

Schutzgitter
Protective grilles
Grilles de protection

SERVICE: +49 7720 6940 ● info@maico.de

Montage- & Bedienungsanleitung
Mounting & operating instructions
Instructions de montage & mode d’emploi

Montage- & Bedienungsanleitung
Mounting & operating instructions
Instructions de montage & mode d’emploi

Schutzgitter
Protective grilles
Grilles de protection

SGM 18 Ex
SGM 22 Ex
SGM 25 Ex

www.maico-ventilatoren.com



Montage und Erdung des Metallschutzgitters

0185.0937.0101_RLF.9_01.24_AV

Montage und Erdung des Metallschutzgitters

Lieferumfang
1x Metallschutzgitter, 4x Blechschrauben (4 x 14 mm), 2x Schrauben M4 x 6.

Montage und Erdung des Metallschutzgitters
1. Schutzgitter mit 4 Blechschrauben (4 x 14 mm) an die zu schützende Seite des Ventilatorgehäuses festschrauben. Falls notwendig am Gehäuse

Löcher mit 3,5 mm Durchmesser vorbohren.
2. Erdungsleitung (bauseitig bereitstellen) mit einer M4 x 6 Schraube an der Erdungsklemme des Schutzgitters festschrauben.
3. Anderes Ende der Erdungsleitung mit einer M4 x 6 Schraube an der Erdungsklemme des Kondensators (seitlich am Ventilatorgehäuse)

festschrauben.
Alternative: Anderes Ende der Erdungsleitung direkt an äußerer Erdung festschrauben.

Impressum
© Maico Elektroapparate-Fabrik GmbH. Deutsche Original-Montageanleitung. Druckfehler, Irrtümer und technische Änderungen vorbehalten.

Mounting and earthing of the metal protective grille

Supply contents
1x metal protective grille, 4x sheet metal screws (4 x 14 mm), 2x screws M4 x 6.

Mounting and earthing of the metal protective grille
1. Screw protective grille with 4 sheet metal screws (4 mm x 14 mm) to the side of the fan housing where the fan shall be protected. If necessary pre-

drill a hole with diameter 3,5 mm in the housing.
2. Screw earth wire (to be available on site) with a screw M4 x 6 at the earth terminal of the protective grille.
3. Screw the other end of the earth wire with a screw M4 x 6 to the earth terminal of the capacitor (at the side of the fan housing).

Alternative: The other end of the earth wire to be fixed directly to the outer earthing.

Company information
Acknowledgements: © Maico Elektroapparate-Fabrik GmbH. Translation of the original instructions. Misprints, errors and technical changes are
reserved.

Instructions de montage & mode d’emploi

Articles fournis
1x Grille de protection métallique, 4x Vis à tôle (4 x 14 mm), 2x Vis M4 x 6.

Montage et mise à la terre de la grille de protection métallique
1. Visser la grille de protection sur le côte à protéger du boîtier de ventilateur avec les 4 vis à tôle (4 mm x 14 mm). Si nécessaire, percer d’abord des

trous de 3,5 mm de diamètre dans le boîtier.
2. Visser le conducteur de mise à la terre (à fournir par le client) à la borne de terre de la grille de protection avec une vis M4 x 6.
3. Visser l’autre extrémité du conducteur de mise à la terre à la borne de terre du condenseur (sur le côtè du boîtier de ventilateur) avec l’autre vis

M4 x 6.
Branchement alternatif : Visser l’autre extrémité du conducteur de mise à la terre directement à la prise de terre externe.

Mentions légales
Mentions légales : © Maico Elektroapparate-Fabrik GmbH. Traduction de la notice originale. Sous réserve de fautes d'impression, d'erreurs et de
modifications techniques.


	Titelseite
	 Montage und Erdung des Metallschutzgitters
	 Lieferumfang
	 Montage und Erdung des Metallschutzgitters
	 Impressum

	 Mounting and earthing of the metal protective grille
	 Supply contents
	 Mounting and earthing of the metal protective grille
	 Company information

	 Instructions de montage & mode d’emploi
	 Articles fournis
	 Montage et mise à la terre de la grille de protection métallique
	 Mentions légales



